 Review Modules 8 thru 15 Questions with Answers

A - INCOME
A 1. LaDonna received the following income:
 WAGES, 
INTEREST,
 CHILD SUPPORT, 
ALIMONY, 
INHERITANCE,
 
WORKERS' COMPENSATION, 
LOTTERY WINNINGS.
Can you determine which sources of LaDonna's income are taxable and which are nontaxable?

Answer - The wages, interest, alimony, and lottery winnings are taxable income and will appear on LaDonna's tax return.  Child support, inheritance, and workers' compensation are nontaxable income and will not appear on LaDonna's tax return.

A 2. Which of the following tip income is exempt from federal income tax?

	A
	Tips of less than $20 per month

	B
	Tips not reported to the employer

	C
	Noncash tips

	D
	None of the above


Answer - D  . All tip income is subject to federal income tax.
A 3. Mandy worked two jobs. She was a quality inspector during the week and a bartender on the weekends. She reported all of her tip income ($3,000) to her employer. Her Forms W-2, box 1, showed income of $21,000 (quality inspector) and $8,250 (bartender). What amount will Mandy report on her Form 1040, line 7?

Answer - 29,250 -  Mandy's bartending tips are already included in the box 1 amount shown on her W-2 for that job, so the amount she reports on line 7 is $21,000+$8,250.
A 4. Peter works as a food server in an expensive restaurant. He tells you that he did not report his tip income of $18,100 to his employer. Must Peter file Form 4137?


YES

OR

NO
Answer -  YES -  Individuals who receive $20 or more in tips in any month while working for one employer and do not report the full amount must use Forms 4137 and 1040 to report and pay social security and Medicare tax on their tip income.

A 5. Cassandra has received a Form W-2 for her part-time job and another Form W-2 for a college scholarship she won last year. What is the correct treatment of these income amounts?

	A
	Both Forms W-2 should be included in income on Cassandra's tax return

	B
	Cassandra only needs to report the wages from her part-time job as income

	C
	Cassandra must file a paper return and write "SCH" with the scholarship amount to the left of line 7

	D
	Report only her part-time income and write "SCH" with the scholarship amount to the left of line 7


Answer -  A  Since Cassandra received a Form W-2 for her scholarship income, she can treat that income the same way she treats her part-time job income.
A 6 Sharon claimed the standard deduction on last year's tax return and received a state tax refund. Is the refund taxable and, if so, how does Sharon report it?

	A
	No, the refund is not taxable

	B
	Yes, she should enter the total amount on Form 1040, line 10

	C
	Yes, she should enter the total amount on Form 1040, line 13

	D
	Yes, she must use the appropriate worksheet to determine the amount to enter on line 10



Answer -  A Only taxpayers who itemize deductions and receive a state or local refund may have to include all or part of the refund in their taxable income.
A 7. Marie and her husband Arturo have three Forms 1099-INT:

State of Washington Bond interest $300; 
Epping Credit Union, $600;



Brenton Savings and Loan, $960 

How much interest income should they report on Form 1040, Schedule B, Part I?

	A
	$1,560

	B
	$1,860

	C
	$300

	D
	$1,260



Answer -  A   Arturo and Marie's total interest to report on Schedule B, Part I is $1,560 (taxable interest less exempt interest).
A 8. Toni received the following income:

LONG-TERM CARE BENEFITS,
 INTEREST,
 ALIMONY,
 INHERITANCE,


 AND IRA DISTRIBUTIONS. 
Which income is exempt from federal taxes?

Answer -  Inheritances, gifts, and bequests are exempt from federal income taxes, but may be subject to state and local taxes.

A 9. Kent and his wife Jeri received Form 1099-DIV for $1,800 in ordinary dividend income from shares they own jointly. How do you report this income if they file separate returns?

	A
	Allow them to decide how they want to divide the amount between their two returns

	B
	Report $900 on his return and $900 on her return

	C
	Report the entire amount on one return or the other



Answer - B  The joint dividend income must be split evenly between the spouses' separate returns.
B- INCOME BUSINESS

B 1.  Tim works as an independent contractor for ABC Construction Company. The company sent Tim a Form 1099-MISC that shows he received $15,000 for the work he did for them. He also received cash payments of $4,000 from several different individuals for the work he completed. He did not receive Forms 1099-MISC for the $4,000. 

Must Tim  include the $4,000 cash payments as self-employment income along with the $15,000 on Form 1099-MISC



YES   

OR  

NO
Answer – YES  The cash payments must be included in Tim's gross receipts the same as the $15,000 on Form 1099-MISC. Cash payments are compensation for his services and must be reported on his Schedule C-EZ or Schedule C.
B 2. In which situation are you permitted to assist a taxpayer with self-employment income?

	A
	The taxpayer is eligible to file Schedule C because she has business income from cost of goods sold and you have completed the training for self-employment income

	B
	The taxpayer is eligible to file Schedule C because he has business income from return and allowances, you have completed the training for self-employment income, and you have received site coordinator approval 

	C
	The taxpayer is eligible to file Schedule C-EZ or limited Schedule C and you have completed certification for the Intermediate level 

	D
	The taxpayer is eligible to file Schedule C-EZ and you have completed certification for the Basic level



Answer  -  C   VITA and TCE tax preparers who completed certification for the Intermediate level may provide assistance in this situation.
B 3. All of the following are deductible business expenses on Schedule C-EZ EXCEPT _____.

	A
	Long-distance telephone expenses

	B
	Interest paid on business loans

	C
	Legal and professional services and fees

	D
	Expenses for business use of the taxpayer's home 



Answer -  D Taxpayers cannot use Schedule C-EZ if they deduct expenses for business use of their home.

B 4. The following are more examples of deductible business expenses on Schedule C-EZ EXCEPT: 

	A
	Full cost of business meals

	B
	Insurance

	C
	Advertising

	D
	Business travel



Answer -  A  Only 50% of business meals and entertainment is deductible.
B 5. Taxpayers who file Schedule C-EZ may not be required to file Schedule SE if their net profit was ______.

	A
	More than $5,000

	B
	Less than $5,000

	C
	Less than $400

	D
	None of the above



Answer -  C  If the net profit was less than $400, you enter the amount on line 12 of Form 1040 and attach Schedule C-EZ to the return. Schedule SE is not required unless there is a profit of $400 or more.
B 6 As a painting contractor, Roger had gross receipts of $10,953 and supply expenses of $1,675. His written mileage log shows he drove 1,564 business miles. He drove 800 miles between January 1, 2013, through June 30, 2013, and he drove 764 between July 1, 2013, through December 31, 2013; he uses the standard mileage rate to determine his driving expenses.

How much can Roger deduct for his total business expenses? Remember to round off your answer to the nearest dollar.

For this activity, use the standard mileage rate of 56.5 cents per mile to determine Roger's deductible driving expenses for the entire year.

Answer -  . $1,675 + 883.66($0.56.5 X 1564) = $2559.
B 8. Which of the following is a deductible business expense on Schedule C-EZ?

	A
	Wages paid to an employee

	B
	Automobile depreciation

	C
	Office rent

	D
	A portion of mortgage interest related to a home office



Answer - C . Rent or lease expenses can be deducted on Schedule C-EZ.
C. CAPITAL GAIN / LOSS
C 1. Alice paid $1,100 for 100 shares of ABC, Inc. stock (including the broker's commission of $25), so the original basis per share was $11 ($1,100/100).  Alice received 10 additional shares of ABC stock as a nontaxable stock dividend. Can you determine the adjusted basis of Alice's stock? 

Answer -  If Alice's basis in the stock was $1,100 for 100 shares, then her original basis per share was $11 ($1,100/100). Her $1,100 basis must be spread over 110 shares (100 original shares plus the 10-share stock dividend).  So, the 10 additional shares means Alice's basis per share decreased to $10 per share ($1,100/110).

C 2. Erma bought stock on January 11, 2010 (trade date), so her holding period began the next day, January 12, 2010.  If she sold that stock on January 11, 2011, would the holding period be short-term or long-term? 

Answer -  If Erma bought stock on January 11, 2010, her holding period would not begin until January 12, 2010. If she sold that stock on January 11, 2011, she would not have owned the stock for more than a year and the holding period would be short-term.  However, if she sold the stock on January 12, 2011, or later, the holding period would be more than one year, which constitutes long-term.

C 3.  Lenny bought 500 shares of XYZ Corporation stock for $1,500, including his broker's commission.

Five years later, XYZ distributed a 2% nontaxable stock dividend (10 shares). Three days after the stock dividend was distributed, Lenny sold all his XYZ stock for $2,030.

Is the holding period for Lenny's stock considered short-term or long-term? 

Answer -  Although Lenny owned the 10 shares he received as a nontaxable stock dividend for only three days, all the stock has a long-term holding period. Stock acquired as a stock dividend has the same holding period as the original stock owned.   Because he bought the stock for $1,500 and then sold it for $2,030 more than a year later, Lenny has a long-term capital gain of $530 on the sale of the 510 shares.

C 4. Marie bought 100 shares of Antrim Corporation stock for $2,000. A year later, she bought another 100 shares of Antrim for $2,300. Five years later, Marie sold 100 shares of Antrim for $3,000, but she did not identify the specific block at the time of sale.  What is the adjusted basis of the stock that Marie sold?
What was her long term gain / loss? 

Answer -  If a taxpayer does not identify the specific block at the time of sale, shares sold are treated as coming from the earliest block purchased.

Because Marie purchased the earliest block of shares for $2,000, the adjusted basis of the shares she sold was $2,000. The sales price of the shares she sold was $3,000, so Marie had a long-term capital gain of $1,000.

However, if Marie had told her broker to sell the 100 shares from the second block of stock she bought, the adjusted basis of the shares sold would have been $2,300, reducing her profit (and any taxable amount) on the sale to just $700

C 5. On May 11, 2005, Henry bought 1,000 shares of ZZZ Corporation stock for $5,000, plus an additional $100 commission. 

What is Henry's original basis in the stock? 

	A
	$5,000

	B
	$5,100

	C
	Neither of the above



Answer -  B  Henry's original basis in the stock was $5,100.
C 7. The scenario continues. Henry's original basis in the 1,000 shares of ZZZ Corporation stock he purchased was $5,100, including the commission. 

On February 14, 2011, he sold 500 shares for $3,300.

What is the adjusted basis of the stock he sold?

	A
	$5,100

	B
	$2,550

	C
	$3,300

	D
	$3,255


Answer -  B  Henry's original basis in the total stock was $5,100, which is $5.10 per share, so his basis in the 500 shares he sold is 500 X $5.10, or $2,550.
C 8. Kevin paid his broker a $75 fee on the sale of his stock. Box 2 of his Form 1099-B shows $925, and the box next to sales price is checked. What is the amount Kevin reports as his sales price on Schedule D?

	A
	$925

	B
	$1,000

	C
	$850

	D
	$75



Answer -  A   Never adjust the sales price. If box 2 shows gross proceeds, you add the broker's fee to the basis or purchase price of the stock.  ENTER COMMISSION IN COLUMN G OF CAPITAL GAINS WORKSHEET - – SEE 4012
C 9  On March 15, Bill bought 1,000 shares of stock for $15,000, including commission. On March 15, one year later, he sold 600 shares of the stock. Form 1099-B, box 2, reports sales price less commissions (net proceeds) of $7,800. 

Based on the same scenario, how much is Bill's loss?


Answer -  $7,800 - [($15,000 ÷ 1,000) x 600] = ($1,200).
C 10  Margo bought stock for $1,500, plus a $25 commission. She sold the stock for $2,000 and paid a $25 commission. Her Form 1099-B shows the gross proceeds of $2,000 as the sales price. 

Based on the same scenario, how much is Margo's gain?

Correct. $2,000 - ($1,500 + $25 + $25) = $450.
C 11  Stella's cost basis for 600 shares of KLM Corporation stock she purchased was $2,400.

After holding the stock for seven years, Stella sold the 600 shares for $4,400 and paid a $100 commission. Her broker reported the gross proceeds of $4,400 on Form 1099-B. What was the sales price for the shares and the amount of capital gain?

	A
	$4,400 sales price and $2,000 gain 

	B
	$4,400 sales price and $1,900 gain

	C
	$4,500 sales price and $2,100 gain 

	D
	$4,300 sales price and $1,900 gain



Answer - B   The sales price was $4,400, which was $1,900 more than the adjusted basis of $2,500 ($2,400 cost + $100 commission) of the shares. 
C 12  What is the maximum number of times a taxpayer can carry over an unused capital loss? 

	A
	Once 

	B
	Twice 

	C
	As many times as required to receive the entire deduction




Answer - .C   Unused losses may be carried over year after year until they are all deducted. There is no limit on how many times a loss can be carried over during the taxpayer's life.
D - SALE OF MAIN HOME

D 1  Lucinda owns and lives in a house in the city. She also owns a beach house, which she uses during the summer months. Which house is her main home? 

	

	


Answer -  Lucinda's main home is her home in the city because she lives there most of the year.
D 2  True or False? Mario rents an apartment in his hometown. He works two hours away and has purchased a motor home to live in during the workweek. The motor home is considered his main home.

Answer -  TRUE  Mario's main home is his motor home, because he lives there most of the time, even though he rents an apartment.
D 3  Susan bought and moved into a house in July 2009. She lived there for 13 months and then moved in with a friend. She moved back into her own house in 2011 and lived there for 12 months until she sold it in July 2012. Does Susan meet the ownership and use tests?:  YES

or
NO

Answer - YES  Susan meets the ownership and use tests because during the five-year period ending on the date of sale, she owned the house for four years and lived in it for a total of 25 months.
D 4  From 2000 to August 2012, Donna lived with her parents in a house her parents owned. On September 1, 2012, she bought this house from her parents. She continued to live there until December 14, 2013, when she sold it. Does Donna meet the requirements of the ownership and use tests? 
 YES

OR 

NO

Answer - NO  Although Donna lived in the property as her main home for more than two years, she did not own it for the required two years. Therefore, she does not meet the ownership and use tests.
D 5  In September 2009, Paul and Nadine bought a new home. In November 2009, they sold their old home at a $40,000 gain. They had owned and lived in the old home for four years. They excluded the gain on the sale of the old home. 

On October 1, 2011, Paul and Nadine sold the home they purchased in September 2009 at a $15,000 gain. The sale was not due to a change in place of employment or health. Can Paul and Nadine exclude the gain on the October 2011 sale? 

YES
OR

NO


Answer - NO  . Because Paul and Nadine had excluded gain on the sale of another home within the two-year period ending on October 1, 2011, they cannot exclude the gain on this sale.

D.6  Peter sold his home for $275,000. His selling expenses were $10,000. What is the amount realized on this sale? 


Answer -. The amount realized on Peter's sale is $265,000 (selling price minus selling expenses).


D 7  Continuing with Peter, the adjusted basis in his home is $60,000. Based on the amount realized, what is the amount of the gain on the sale? 


Answer -. The amount of the gain on the sale of Peter's house is $205,000, which is the result of subtracting the adjusted basis in the home from the amount realized. ($265,000 - $60,000 = $205,000)

D. 8 John purchased a home in 2003. Through your interview process, you discover that he sold the home in 2013. John had not lived in the home for six years. Which of the following conditions would allow John to exclude his gain?

	A
	John went on sabbatical for four years and backpacked through Europe.

	B
	John lived with a co-worker for four years and let his brother occupy his home.

	C
	John was deployed to Europe on official extended military duty for five years.

	D
	John married and his bride had her own home. The couple chose to live in the wife's home and rent out John's home, until it was sold. 



Answer - C  If John was deployed to Europe on an official extended military duty for 5 years, he would be allowed to exclude his gain.
D. 9  Fred is single and sold his home in June of the tax year. The amount realized in the sale of Fred's home was $410,000. The adjusted basis in the home is $100,000. What is Fred's exclusion amount on the gain from the sale of his home? 

	A
	$410,000

	B
	$310,000

	C
	$250,000

	D
	$100,000



Answer - C  According to the limitations on the exclusion amount, Fred may exclude up to $250,000 of the gain from his taxable income.
D. 10 Which of the following would not be considered an adjustment to the basis of a taxpayer's home?

	A
	Adding new plumbing to a bathroom

	B
	Paving an unfinished driveway

	C
	Adding new flowers and potted plants to a front yard

	D
	Postponing a gain from the sales of a previous home prior to May 7, 1997



Answer - C  Adding new plants is not considered to be a home improvement that has a useful life of more than one year; therefore it would not be considered an adjustment in the basis of a home.
D. 11 Emily sold her main home in June of 2013. She recognized a gain from the sale. She married Jamie later that same year. Emily meets the ownership and use tests, but Jamie does not. Which of the following is true?

	A
	They do not qualify to claim the gain as an exclusion

	B
	Emily can exclude up to $250,000 of gain on a separate or joint return

	C
	Emily and Jamie can exclude up to $500,000 gain if they file a joint return

	D
	None of the above



Answer -B  Emily can exclude up to $250,000 of gain on a separate or joint return. The $500,000 maximum for certain joint returns does not apply because Jamie does not meet the use test.





CHAPTER 11 – RETIREMENT INCOME 
11a - Alisha received Form 1099-R for 2011. IRA/SEP/SIMPLE is checked in box 7 of her form. What does it indicate?

	A
	Prohibited transaction

	B
	Excess contributions

	C
	IRA-type distribution

	D
	Charitable gift annuity



answer -  A check mark in the IRA/SEP/SIMPLE checkbox in box 7 of Form 1099-R indicates that the taxpayer received an IRA-type distribution.
11b - True or False? A 401(k) includes "after-tax" contributions, which means employees pay income tax on their salary before the contributions have been deducted.

Answer: False - A 401(k) program includes "before-tax" contributions; each year, the employee pays income tax on the salary after the "before-tax" contributions have been deducted.
11c - True or False?  May contributed to a Roth IRA for the last three years. This year, she took the full amount of her Roth IRA as a distribution to help her purchase her first home. The entire distribution is excluded from her taxable income.


Answer – False - May's distribution was not made after the 5-year period beginning with the first taxable year she made a contribution to her Roth IRA. Therefore, only the return of her regular contributions are not included in her gross income. Any earnings would be taxable. However, she would have to report the withdrawal on Form 8606, Nondeductible IRAs, even though portions of the withdrawal might not be taxable. May should be referred to a professional tax preparer.
11d - True or False? Amy, age 60, contributed to a Roth IRA for 5 years. In year six, she made a distribution from her IRA. The entire distribution is excluded from her taxable income.

Answer – True  Amy's distribution can be excluded from her taxable income because it was made after age 59½ and after the 5-year period.
11e - Andrew received Form 1099-R from his previous employer; $11,200 is shown in 1099-R, box 1. Andrew deposited the entire $11,200 into his IRA within 30 days of receiving the check.

Which of the following statements is true?

	A
	The entire distribution is includable as income

	B
	The entire distribution is excludable from income

	C
	The distribution is eligible for the ten-year tax option

	D
	The distribution is eligible to be taxed at a special rate



answer – B - Andrew can exclude the entire distribution from income because it was rolled over into an IRA within the allowed 60-day period.
11f - Dotty worked for the local tire plant for 32 years. She retired in June and receives a monthly pension of $1,679. She received six payments for July through December. Dotty never contributed to the pension plan. Her employer made all of the contributions. How much of her pension is taxable?

	A
	$12,074

	B
	$11,074

	C
	$10,074

	D
	$1,679



Answer – C - Dotty's entire pension amount of $10,074 is fully taxable ($1,679 X 6 = $10,074).

11g - Annie Jo is 47 years old and has retired on disability from her job. She used to load cargo for a tractor-trailer company, but a large box fell on her and left her paralyzed. She receives a monthly payment from her former employer's pension plan. She has not reached the minimum retirement age set by her company's pension plan. On which line of her Form 1040 should you report her disability income?

	A
	Line 61 - federal income tax wothheld

	B
	Line 16a -  pension & annuities total

	C
	Line 16b  - pension & annuities taxable amount

	D
	Line 7 - salaries



Answer – D  Because Annie Jo has not reached the minimum retirement age set by her employer, you should report her disability income as wages on line 7 of her Form 1040.
11h- True or False? Taxpayers who withdraw excess contributions and earnings on the excess contributions by the end of the tax year are not subject to an additional 6 percent tax on the excess contribution.

Answer – true - Taxpayers must withdraw excess contributions and any earnings by the due date of the return (including extensions) to avoid the additional 6 percent tax on the excess contribution.
11i - Helen turned 70½ on March 17, 2011. She retired in 2002. She has never taken any distribution from her traditional IRA accounts. She must take a distribution from the IRA this year. The bank where she has her IRA told her that she needs to take a minimum distribution of $1,479 per year. Helen is required to _____.

	A
	Take a distribution of $1,479 by December 31, 2011

	B
	Take a distribution of $1,479 by April 1, 2011, and another $1,479 by December 31, 2011

	C
	Take a distribution of $2,958 by December 31, 2011

	D
	Take a distribution of $1,479 by April 1, 2012, and another $1,479 by December 31, 2012


Answer – D Taxpayers are required to begin receiving distributions from their qualified plan by April 1 of the calendar year following the year in which they reach age 70½. Helen was 70½ in 2011. She should take her distribution of $1,479 for tax year 2011 by April 1, 2012 and another distribution of $1,479 for tax year 2012 by December 31, 2012.
CHAPTER 12 RENTAL INCOME 

CHAPTER 13 – UNEMPLOYMENT COMPENSATION

CHAPTER 14 – SOCIAL SECURITY

14a - Hank comes to your site to get some help with his tax return. He is upset because his neighbor told him that he would have to pay tax on all of his social security benefits this year. After talking to Hank, you learn that his wife died several years ago.  In 2011, he sold all of his stock and moved into senior housing. Hank received $31,896 of taxable income from the sale of the stock. His neighbor told him, with that much income, the entire $11,724 of his social security benefits would be taxable.

What is the maximum taxable amount of Hank's benefits?

	A
	$31,896

	B
	$20,172

	C
	$11,724

	D
	$9,965


Answer - D. The maximum amount that could ever be taxable on the net benefits is 85% or $9,965.
14b - Joan presents you with her Form SSA-1099 that includes a lump-sum benefit payment for both 2010 and 2011. She had other taxable income in both 2010 and 2011.

What lump-sum election method may be used to determine the taxable portion of social security benefits if it lowers her taxes benefits? 

	A
	Report the whole payment in the year it was received

	B
	Complete the Social Security Benefits Worksheet including the lump-sum payment on line 1

	C
	Figure whether any part of the lump-sum payment is taxable based on earlier year's income

	D
	The lump-sum election method is not in scope; you should refer her to a professional tax preparer


Answer - C - . Treating the payment based on earlier year's income may lower the taxable portion.
CHAPTER 15 OTHER INCOME
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